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Questions

A recovery of one of paper can save how many trees?

How much protein is produced by 50 kg of yeast in 24 hours?

Vector DNA and Gene of interest, collectively called:

Human insulin gene was transferred into:

Effective against brain and lungs cancer:

An enzyme produced by genetically modified organisms used to break up blood clots is
called:

Bacterium (E.coli) which prepares human growth hormones was Synthesized in:

Insulin is used by patient of which disease?

Genes are cut from DNA:

First step in Genetic Enginnering is:

Which one is the antiviral protien among the following:

The animal whose DNA has been changed is called:

Answers Choice

17
170
200
1000

100 Ton
150 Ton
200 Ton
250 Ton

Gene

. Recombinant Gene
Recombinant DNA
GMO

Yeast
Becteria
Virus
Algae

Beta Endorphin
Interferon
Thymosin
. Urokinase

Ligase
Amylase
Urokinase
. Peptidase

1980
1910
1970
1977

. Hepatitis
Cancer
AIDS

. Diabetes

Ligase

. Restriction endonuclease
. Urokinesis

Lipase

. Isolation of gene of interest

. Insertionof gene into a vector

. Transfer of recombinent DNA into
host

D. Growth of the GMO
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A. Urokinase
B. Tymosin
C. Insulin

D. Interferon

A. Transformed
B. Transgenic
C. Monohybrid
D. Dihybrid



